greel geua —1
fawa — A A (202)
Subject — Chemistry

|G — 3 guc qufies — 70
Time — 3 hours M.M. - 70

fader : (1) i gz erfFard 2

Instructions : (1) All Questions are compulsory.

Ques. :

YR+ -

Ques. :

YR+ -

Ques. :

U3
Ques
U3+

Ques
U3

(2) e . 1 | 5 P AMTAGITNIT U 2 | IAD WX 1 3P I&fed g | geq &l
IR 1 T AT 1 19 H I |

(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given wordone or 1 sentence.

(3) W2 . 6 W 10 Tb AP WX 2 3P Iafed B (I AT 30 <)

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

@) 939 % 11 ¥ 22 Tb AP Y99 W 3 b IArefed B (I JHT 50 1)

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)

(5) U39 b 23 WX 4 I[P IEfed 2| (I AT 70 )

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) U W 24 | 26 B TP YT W 5 3P 3IM&fed | (g AT 100 )
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

(1) ST & AT BT TS 308 Bl Ahel fhd TR & hlargs ¢ | (1)
(1) Egg white beaten with water forms which type of collide?
(2) velfa=dl 95l & HR=T 9arsy | (1)

(2) Drow the structure of ethoxy benzene
(3) SEFART HIIF & 3T & AT AFIH | M TR T YA1G JsaT & 2 (1)

(3) How will it effect our eyes when it comes in direct contact with
dichloromethane

(4) 3aq B ¥had D foIU HIF A1 fae®+ SRR & ? (1)

: (4) Which vitamin is responsible for the congulation of blood ?

(5) Rrifesess & IUPAC = forRay | (1)

: (5) Write [IUPAC name of Cinnemaldehyde

(6) F=ferRad @1 gl eRIIar @ Hd # forRay | 2)



Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

C,HsNH, , (C,Hs);N , C¢HsNH, , (C,Hs),NH

(6) Arrange the following on increasing order of basicity

C,HsNH, , (CHs):N , CeHsNH, , (C,Hs),NH

(7) @1 BROT 8 AUhH H gfg ¥ W <9 § A [Jo Bl 2 2)
(7) What is the reason that gases are less soluble in liquid when temperature is
raised ?

(8) ¥ & =T 3ifadl 3l & A @ F Ty | )
(8) Write the names and formulas of two oxy acids of chlorene

(@) e faa ®1& & sfifpar & forg afierRe @ wiaar gl @) a9 W
AT &I a7 e IHR FIfad B8R | 2)
(9) What is the effective on the rate of reaction when the concentration of the

reactants is double for a second order of reaction.

(10) TN M U el= & &9 W 8rar & &7 ? (2)
(10) Why Anilinium ion is less stable than Aniline ?

(11) (1) 99 (F@el) uhd gR1 HySO, & A= # gfg o & U smavasds
gRRerfrt @1 forfag | ()
(ii) H,SO4& <1 3uanT ey |

(11) (1) Write the conditions is required to increase the mass of H,SOy4 by the
contact process

(ii) Write any two uses of H,SOy

(12) wfera fewop forfay — (3)

(i) 15 9 HHE & TIIQITS &I WATAE

(i) HeHR & 3UVHY

(12) Write short notes

(i) stability of hydrides of 15™ group
(i1) Allotropes of sulpher

(13) D-Glucose @& pentaacetate % 3MU UfCSEISS WHE &I Ul &I 6HA
AT ? (3)



Ques. :

Ques. :

Ques.

Ques. :

Ques. :

Ques. :

(13) How do you explain the absence of aldehyde group in the pent a acetate of
D-Glucose
(14) =1 IgADT & TebeTdp] HT M 3R AT fTRey | (3)

(i) STl 66

(ii) S

(14) Write the names and structure of the monomers of the following polymins
(i) Nylon — 66
(ii) Dacron

(15) HZINT AIATS BT & vl TIF UHRI BT IaTexvl Afed MY | (3)

: (15) Explain any three types of synthetic detergents with example

(16) &FTCH® TIT R NcAd fdael arel faera=ii § dis o1 iR faRaw|  (3)
(16) Write any three differences between positive and negative deviation solution
(17) UgMfrd & N0 & forg defa srugedl e &l AMifdhd = 913y | (3)
(17) Draw the labeled diagram of electrolytic cell for the extraction of aluminum
(18) %1 yarem # 318 K ¥ N,O5 & 3meed ol [2N,05 — 4NO,+0,]
Afafrar & orfes = g g | ()

t/s | O 400 | 800 1200 | 1600 |2000 |2400 |2800 | 3200

102 x|1.63 |1.36 1.14 0.93 0.78 0.64 0.53 0.43 0.35
[N,Os]
Mol !

(i) [N,Os5] vd t & #eg g Efay |
(i) arfafsrar & foq ord Myl @1 ToFT BT |
(i) erfaforar & forg o7 foos @& 2 2

(18) The experimental data for decomposition of N,Os in gas phase at 318 K are
given below.

t/s 0 400 800 1200 1600 12000 [2400 [2800 [3200
102 x|1.63 |1.36 1.14 1093 0.78 0.64 0.53 0.43 0.35
[N2Os]
Mol L'




Ques. :

Ques. :

Ques. :

Ques. :

(i) Plot [N,Os] against t
(ii) Find the half life period for the reaction
(iii) What is the rate law ?
(19) WG @ eI foham fARiet 999 & @RoT Bl @ 39 W feweft 3w | (3)

(19) Cleansing action of soap is due to micelle formations comment.

(20) frreaferRRaa SusewTS AfT@l & TUPAC 4 ferfay (3)
(i) [Co (NH;)]Cl;

(ii) Ky[PdCly]

(iii) [Pt(NH3)(H,O)Cls]

(20) Write the IUPAC names of the following co-ordination compounds.

(i) [Co (NH;)]Cl;5

(ii) K»[PdCly]

(iii) [Pt(NH3)(H,O)Cl,]

(21) ferrferRad SIFAfhATRIT Bl THIHRUT SR HHSISY — (3)
(i) wred e aAfafhan

(i) HvsHIR erfHfdhar

(21) What Explain the following reaction’s by giving equation

(i) Fridel Craft reaction

(ii) Sandmeyer’s reaction

(22) TP BEfE AfE @ g CyH 0O PCls ¥ Arfdfshar &= ua diffia
(A) samar g1 KCN ¥ 3531 &% Ua g drei-ie e (B) 96T 8 Sl ofd
3UECT B R T dwrafid ok (C) <ar g1 Afdfharell § yyad s drell
Y RIS FHET Bl forRay | (3)

(22) An organic compound whose molecular formula C;H;(O reacts with PCls

forms a compound (A) which also reacts with KCN to form another organic
compound (B) that given an organic acid (C) upon hydrolysis. Write all chemical

equation for the reaction involved.



g3 ;. (23) B et A fqenefial @ ta fhvea fdar S99 fhed # SHa s@agdr $ur
U9 B DIV IR IR Befdl TR SURYT § I8 e b YBR Thd BIRADI
BT | S U FIRIGT H Bl e GRAT B | R oy § i S et
&1 fadra w1 o 2| (4)
Ques. : (23) A teacher gave a crystal to the students. In that crystal , its components are
present on the corners on the cube and on the faces , what type of unit cell will
this crystal be ? How many atoms will be in that unit cell ? What values does the
teacher want to develop in you ?
ST
Rieres =1 fAenfeial oy fohted fQar 99 fheed & 3m@ydl &vll & gdl BT
o B PO TR TAT Tb ATl U D TR Red § I8 fheed 9 gadr @
Uhdh PIABIS BT BNIT| S Yheh BIRTHI H Gl fha- w=AT] 8F? Rt sy

H I — DI oAl bl (BRI HIAT ATl 3 |

The teacher gave a crystal to the students The 8" part of the component of that
crystal is located at the corner of the cube and one component at the center of
which type of unit cell will this crystal be ? How many atoms will be in that unit

cell ? What values does the teacher want to develop in you ?
e ;. (24) B9 TedMd Ao BT <wizgy aH 9 afafar gl & — (1+2+14+1=5)
Cr=-0.74V, Cd=-0.40V

(i) & @ E’ el ST TG —
(il) & THb gdagls UR BIF drell AfAfhar falRay |
(iii) RITHS Scidgls W B dlell 3fAfhar fofay |
Ques. : (24) Show the galvanic cell in which the following reaction takes place.

Cr=-0.74V, Cd =-0.40V
2Cryt3Cd2E— 2Crihy +3Cd)

(i)  Find the E’oq of cell.

(i1))  Write the reaction occuring on the positive electrode.



(iii)) Write the reaction occuring on the negative electrode.

37erdT
1 9 @1 298 K R F9ve 9HiaRvT forRay —

Mg | Mg(o 001 M)|| Cu(o 0001 M) | Cugs)
Cu=0.34V ,Mg=-237V

(i) |et @1 e.m.f. S BIfSY

(ii) gTcHS Soldcls U BI4 drell arfafshar forfay |
(iii) ZRUTTHS goldgle TR B dreil SfHfehar forfy |
Write the Nernst equation of the following cell at 298 K

Mg | Mg(o 001 M)|| Cu(o 0001 M) | Cugs
Cu=034V Mg=-237V
(i)  Find the e.m.f of cell
(i1))  Write the reaction occurring on the positive electrode
(ii1) Write the reaction occurring on the negative electrode
g% : (25) a) frforRad arfifsharaeil &r gof HIvY — (2+3=5)
(i) 2MnO, + 580, +6H —
(i) 2CrO4” +2H —

b) =1 &1 B ferRay
(1) i BT AHAY Td Tl A B |
(ii) %ﬂgaﬁ?ﬁwmﬁwaﬁv&mﬁﬁﬁ‘cﬁ%l

) Cr' &l s A= fifay |
Ques. : (25) a) Complete the following equations -

(i) 2MnO7+5S0;" +6H -
(i) 2CrOs” +2H -

b) Write the reason for the following

(i) Zn is not considered a transition element.



(i1) The enthalpies of atomization of the transition metals are high.
c) Write the electronic configuration of Cr’
3RAdT
a) P crfifraTal BT ol iRy —
(i) 2MnO’,+ 5NO, + 6H' >
(i) CrO;” + 14H' + 6¢” -
b)f = &1 BT faRay —
(i) Hg & gaeie &H 8dr 2 |

(ii) HHHUT T ITH SRS BT BRI B 2 |

¢) Co* &1 soaerfed = fafay —

a) Complete the following equations -

(i) 2MnO7, + 5NO, + 6H' -
(i) CrO,” +14H + 6¢ -
b) Write the reason for the following

(i)  Mercury has lower boiling point

(ii))  Transition elements act as excellent catalysts

c) Write the electronic configuration of Co™

g3 : (26) a) fA=ferlad Al &1 dxa-y fafkay — (2+3=5)
(i) 4 FART U 2 S
(1) &< 2 T 1 31
b) Frfalaa srafirams & ITR! & T BT —

. Br, /P
1) CH;COOH —
LiAlH,
(1) CH;CHO ——
Zn—Hg
(1) CH3- C -CH; ——
I = HCI
O

Ques. : (26) a) Write structures of following compounds -

(i) 4 Chloro Pentan —2 - one
(ii)) But—2—-ene—1-al

c) Perdict the products of following reactions



. Bry/P
1) CH;COOH —

LiAlH

(i) CH;CHO —3
Zn—H
(iii) CH3 - C -CH; ——3

| Cons HCI

O
Jerar

a) frfeaRed difrel @ IUPAC a4 faftay —
(i) CH3 — C —-CH, — CH, -CH, -CH, —CH;

I
0

(i)  CH=CH-CHO

¢

(i) vaeTel & 3 BISgiadl el

N N e~

HfrRad aRads &9 &3 ?

b)

(ii) I=lIs® 3Fel ¥ m ASeleold Uchigd
a) Write [UPAC name of the following compounds
(i) CH3 — C —CH, — CH; —CH,; —CH, —CH;

I

O

(i1) CH =CH - CHO

<

b) How to make the following conversion
(1) Ethanol to 3 —hydroxy butanal

(i1) Propanone to propene

(ii1) Benzoic acid to m — nitro benzyl alcohal

0000



greel geus — 11
fawa — A A (202)
Subject — Chemistry
|HY — 3 gue quries — 70
Time — 3 hours MM. - 70

fader : (1) ol ue erfFard 2

Instructions : (1) All Questions are compulsory.

(2) 9gd ®. 1 ¥ 5 D ATAYSTII YT 2 | Ydd UN 1 3 el & | I Bl
IR 1 Teq AT 1 19 H ST |

(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given word or 1 sentence.

(3) W . 6 W 10 Tdb AP WX 2 3P IMafed | (I AT 30 IR)

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

(4) T2 B 11 ¥ 22 TP IAH U W 3 AP Iefed B (I AT 50 )

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)

(5) U39 % 23 WX 4 3(P AMEfed | (g HHT 70 )

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) 9T P 24 W 26 TP YD YT W 5 3 IMafed 1 (g AHT 100 <)

(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

73T 1 (1) As,S; Aid @ Whad # 79 § | I 1S w9 7 | (1)

Ques. : (1) Which of the following is most effective in coagulation of As,S; sol ?

g3 ;. (2) f&¥ U A® HT TUPAC 1M forRay | (1)
CH;

COOH



Ques

Ques. :

Ques. :

Ques. :

Ques. :

(2) Write the IUPAC name of the given compound.

CH;

COOH

(3) FI=IfIRET 1 STFeiladT & dgd BY A H HIRT BIfoIY | (1)
CH;COOH , HCOOH , CICH,COOH , CF;COOH
(3) Arrange the following in increasing order of acidic character.

CH;COOH , HCOOH , CICH,COOH , CF;COOH

(4) SN* =ifafspar g1 Ufewel BeTSS &1 SUART G gY AISdal =fddel AHTd

BT LTI ISV | (1)
(4) Show how will you synthesize cyclo hexylmethanol using an alkyl halide by

2 .
an SN~ reaction.

(5) HIE=1 & AYSI ¥ Yo WG 8l W& 7 , Ig 49N b fqeri= o o | gl
2 (1)
(5) Mohan has bleading gums deficiency of which vitamin causes this disease.
(6) TANTRIAT B o feTU A AABICd 3 (2) I AAT & AR 68% B(CH
3rFel BT STelld faeras a9 § SuaiT fhar | afe fae &1 o9 1.504 gmL™! 2

ar e & S T @1 Arear a1 R 7 (2)
(6) Concentrated nitric acid used in laboratory work is 68% nitric acid by mass in
aqueous solution . What should be the molarity of such a sample of the acid if

the density of solution is 1.504 gmL™" ?



R

Ques. :

Ques. :

(7) IMTEA® FHIEROT R—>P & fory A= Ar=amli m[R] 91 999 & A9 ITH

R <wfar wr & — (2)

21 [ R]

= L —*)
(i) affrar & ®ife STa B |
(i) ach dI el FaT BRA |
(7) For a Chemical reaction R—P the variation in the concentration , In [R] vs

time (s) plot is given as shown in figure.

]

g
221K}

L —ﬁ
(i) Predict the order of reaction.
(ii) what is the slop of the curve ?
(8) o <MW — )
(i) BRI @l et | AT AfeH AN 2 |
(i) Yg Bl @ T | AR gellod 2w foharefia g 2|
(8) Give reason -
(i) Ammonia is more basic than phosphine.

(ii) Inter halogens are more reactive than pure halogens.

(0) f=ferRaa amfifshar & A IR B @1 GRa-T 918 | (2)

KCN  LiAlH,
CH;CH,Br — A ——B




Ques

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

: (9) Give the structures of A and B in the following reactions :

KCN  LiAlH,
CH;CH,Br — A ——B

(10) Efpi SiHTSS SrAfhar @1 Iy | (2)

(10) Write a note on Hoffmann’s bromamide reaction.

(11) ISee &1 fram AT eel agR <9ie ard f[deas @ fau srawds
afvRerferf forfa | (3)
(11) State Raoult’s law write the conditions necessary for a solution to show

ideal behavior.
(12) worg dife @ sfifpar & fou a7 Rerie 80s! 21 aififshar & aro
RS Aigdl ¥ 1,/18 df AN W8 S H e =1 |GG o ? (3)

(12) The rate constant for a first order reaction is 80s” How much time will it
take to reduce the initial concentration of the reactant to its 1/18" value ?

(13) frfaRaa aRfRerfal § @r Yoy 8T 7 (3)

(i) ST& gebrer f6RoT YT Dldiss! Hid § H THT Bl o |

(ii) STeraiforg BR& sifadrgs dfa # NaCl 9g[a sraee A ST 2 |

(iii) DIergST At # | fagd T yarzd & S 2 |

(13) What do you observed on the following cordition.

(i) When a beam of light is passed through a colloidal sol.

(iii) electric current is passed through a collided sol ?
14) 3RAFDT W T3 & spyor # o § e al YWaT o gHsmsy | (3)
) Fpa & fsBYoT H CO
i) RicaR @& =Ry § Zn
(iii) PR & fremyor § Raferar
(14) Explain the role of each of the following in the extraction of metals from
their ores : -

(i) CO in the extraction of nickel

(ii) Zinc in the extraction of silver
(iii) silica in the extraction of copper.

i
i

(
(
(



g - (15) HAfIRad @ \REAY S48y — (3)

(i) XeF, (ii) H,S,0, (iii) CIF;
Ques. : (15) Draw the structures of the following -
(i) XeF, (ii) H,S,0, (iii) CIF;
g% ;. (16) UUdh P Udb ITeXUT od gU F=IfTRad H S Hgddlsl Il &l AT
P Hiere fadedr Iy | 3)
(i) St yomiferdt
(i) ffwer I

(iii) fazeivoTcHS THTIH
Ques. : (16) Discuss briefly giving example in each case the role of coordination
compounds in :
(i) Biological systems
(ii) Medicinal Chemistry

(iii) Analytical chemistry

ged - (17) 1 IfAfdear @1 ol @iy | (3)
(i) (CHs); CBr+ KOH &
(11) C(,H5()I\L’:H‘C2H5Cl—>

(iii) CH;CH,CH = CH, + HBr ——
Ques. : (17) complete the following reaction

(i) (CH;); CBr + KOH el

eat

(11) C6H50Na+C2H5C1 —

(ii1) CHiCH,CH = CH, + HBr 2%
ged ;. (18) T rfAfdhamell § Ugad IWdwHB! & AH I8y — (3)

(i) urrfes Uedhigdl & BraifdIfeld el H ATaR{THROT
(i) BT BT 2,4,6 SISSMAI BT | SHEA |
(iii) &FT —2 — 39 | YeA— 230 |



Ques. :

Ques. :

Ques. :

(18) Name the reagents used in the following reactions -

(i) oxidation of primary alcohol to carboxylic acid

(ii) Bromination of phenol to 2, 4, 6 tri bromophenol

(iii) Butan — 2 — one to butan —2 - ol
(19) faeell WR®HR A dfelledld o7 & AN WR Yfady o7 | GhFaRl 4 g
IR BITSll | &9 T &1 YA YR b1, Siafd §8 BIc ghMar uifoefiH
T BT YIRT B A Gl fob udel g FTE o |
(i) B9 diferila @1 ufdefe el o)1 =AMy ? o Afdd difrelid © dged o4
fAFligd d3T &1 SUANT & € | 9 b Hedl Bl yafRid & 2 |
(ii) dfferelid &1 gdet 2R FE9 T 99 S B | 3@ Y9 89 D B |
(iii) dfferefie &7 Yot R T | 1 I8 WH 95D I1 € 981D © | (3)

(19) Government banned use of polythen bags in delhi. Shop keepers have started

using bags made up of biodegradable paper. but some small shopkeeper are still

using polythens bags but these are thinner and colourless.

(i) Why should we ban polythene ? what values are possessed by people not
using polythene and use biodegradable materials for bags ?

(ii) Why are polythens bags made thinner and colourless ? How can we manage
them ?

(iii) What is/are monomer(s) polyethen ? is it homo or co — polymer ?

(20) MRT H SMTHIY FART AATIGR HIS Td AT BT WAN & ¢ | oraH era

@ UERAT Bl B 3Pl bl JAfTHAT R W S Ud a8 IU Rl ¢ |

37l T IIBAT BT UldFel §RT IaTAFIDd AT 1T & |

() |fETH BISSIo BET AT Uy 3Fd 8! 8 adl ?

(i) ATSTA BTSSIOH FBEC I T A difcad sSglaass &I AeEH I

2| T I8 31 reliadr @ AR & forg Suanf 27

(iii) ST me &I o drel ANt b1 Heai &l ueRia oxd &7 (3)

(20) In India large number of people take spicy food and chat etc. Which contain

a lot of acid. Excess of acid in the stomach causes invitation and pain. Antacids

are commonly used for neutvalization of excess of acides.



(i) Why is sodium hydrogen carbonate not good antacid.

(ii) Why are metal hydroxides better than sodium hydrogen carbonate ? Do these
treet the cause of hyperacidity ?

(iii) What are the values possessed by people not taking junk food ?

g3 (21) ffeIRad  ®BBRYE &7 SATRITHROT STael F7 BT | (3)
(i) H;PO; (ii) CasP, (iii) NazPO,

Ques. : (21) What are the oxidation state of phosphorus in the following.
(i) H;PO; (ii) CasP, (iii) Na;PO,

ged 1 (22) gfATITATSS TAT G(FAACISS H FIT 3fa¥ BT = | (3)

Ques. : (22) What is the difference between a nucleoside and a nucleotide ?

g3 : (23) faU 7T Swgel e @1 wderor @ Ty — (4)
A" B A B
A+
B B Ai J
A" B A B
B’ A" B A"

fR=ferRed gt & S dfiw —

() frea @ gRT {5 UBR &1 TAMIIHRT SIY ST & |
(i) 9 9 & gRT fohvedd BT gcd d gWIfdd BRI ?

(i) forg UBR BT 3mafe yaref S 1Y HI SR |

(iv) 39 QI &I <UM aTel fohed BT TH ISTER0T QIR |




Ques. : (23) Examine the given defective crystal

A" B A B
A+

B B L AT

A" B A" B

B A" B A"

Answer the following questions
(i) What type of stoichiometric defect is shown by the crystal ?
(ii) How 1s the density of the crystal affected by this defect ?
(iii) What type of ionic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

JRAAT

fay U Igel fohvea &1 q_ieqor HifsTg —

A’ B A B A"




fyferRad yeat @ SR AR —

() fred & gRT b UBR &1 WAAIERT Y gl € |

(i) 39 Y & gRT fohved &7 &cd & yTfad 81T |

(iil) fo S BT fhd YBR BT AMAMS Usrel 39 S BT A |

(iv) 39 I P <2 drel fohecdl BT Udh SN GIfoly |

Examine the given defective crystal

A~ B A" B A"
B N B A" B
A" B A A’

Answer the following questions
(i) What type of stoichiometric defect is shown by the crystal ?
(ii) How is the density of the crystal affected by this defect ?
(iii) What type of ionic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

(24) Foret e &7 oot HT — )

(1)C6H5CHO + CH3CH2CHO NaOH

(i)NaBH4
(ii)H+

(iv) (=o0H 2 ) cio

(i1) CH3COCH:COOC:Hs




()03 2 O
™) Gznimo <}

Ques. : (24) Complete the following reaction
(i) C¢HsCHO + CH3;CH,CHO NaOH

(i)NaBH4
—_—
(ii)H+

CroO
(iif) <} OH 73 ,

7
w O=om 1 O oo
v 9—D% 5 <:>: ©

" (ii)Zn|H,0

(i) CH3COCH2COOC2HS5

3T
1 SrfAfehar &1 TSy —
(1) TS A=A
(ii) DTSR srffhan
(iii) gt 9aTS Sifeat (HVZ) if¥fdan
(iv) FlA=a= 39
(v) ufesr arfafdar

Explain the following reactions

(iv) Resenmund reduction
(v)  Cannizzaro’s reaction
(vi) Hell-volhard—Zelinsky reaction
(vii) Clemmensen Reduction
(viii) Parkin reaction
g3 @ (25) a) T @1 gAY (5)
(i) <o el e e ¥ <eger D g R |
(ii) w0 U] & e SifeTgs NI B © Sidid STd JAladgs SHIATH! AT
3l B B |




(i) cr’* | e @ o # M’ | Mn®t g @ forw B &1 A Sed e
(+1.57V) B |
b) <lgIge Ud ufdeArss | Ud HATT AT Udh AT [eTRey |
Ques. : (25) a) Account for the following

(i)Transition metals form large number of complex compounds.
(ii) The lowest oxide of transition metal is basic where as the highest oxides is
amphotric or acidic.
(iii) E° value for the Mn’" | Mn®" couple is highly positive (+1.57V) as
compave to Cr'' | Cr*"
b) Write one similarity and one difference between the chemistry of lanthanoid and
actinoid element
31T

d) (i) P e qcdl &1 oI # HhAT dqedi dl UiRad] STl aRe e ghiR
=1 Bl B |
(ii) Cu” &R Cu® st & B9 |1 oA Selly fafera & el & ik =i ?
(iii) Cr,O4” o &1 A T &R & |rer fhar B W et 7§ gRafdd
Bl 8 Al |
e) IfAfanett &7 gof FHifse —

(i) Cr,O;” +Sn* +H -

(ii) MnOy + Fe*' +H' >
(a) (i) How is the variability in oxidation state of transition metals
different from that of the P-block elements ?

(ii) Out of Cu' and Cu*" which on is unstable in aqueous solution
and why.
(iii) Orange colour of Cr,0,” on changes to yellow when treated
with an alkali why ?

(b) Complete the reaction
(i) Cr,0~ + Sn* " +H —

(ii) MnO4 + Fe* + H >



g9 ¢ (26) a) Ni (NO3), & U fdctad &1 wifeTd geldgrsi & dra 50 VPR &
YRT YdIfed @xd U 30 MAe o fdgfd smeed fhar Mar| @ dodie W
ffder &1 fa=n A= ST 8l ? 5)
(Ni &7 oRHT9] R =58.9U )
b) Fr=faRad # fagfd e & Idre HId difsly —
(i) Ricar solagrs @ | AgNO; &1 Sieird fafers |
(i) wifean seagrs & a1 H,SO, &1 STeirg fafera T |

Ques. : (26) a) A solution of Ni (NOj3), is electrolysed between platinum
electrodes using a current of 5.0 amperes for 30 minuts. What mass of

Ni is deposited at the cathode ? (at wt of Ni = 58.9U)
b) Predict the products of electrolysis in each of the following

(iii) An aqulous solution of AgNQO; with siliver electrodes.
(iv)A dilute solution of H,SO, with platinum electrodes.
ST

a) 25°C wr fFrfeRad U Bl emf S B |
Fe | Fe™' (0.001m) || H+ (0.01m) | Hyy(1 bar)
E’ (Fe*'[Fe ) =-0.44V
E’ (H'|H, ) =-0.00V
b) fF=fearRad suerdd & oIy fhd= amraer @ AT sraedd sl |
i) A" & 1 @ra & Al ?
(i) 1 At MnO4 & Mn*'
¢) Calculate emf of the following cell at 25°C
Fe | Fe*" (0.001m) || H+ (0.01m) | Hy (1 bar)
E’ (Fe’'[Fe ) =-0.44V
E’ (H'H, ) =-0.00V

d) How much charge is required for the following reductions ?
(iv) 1 mol of Al” to Al ?
(v) 1 mol of MnO,” to Mn*" ?
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